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Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21

Section Marks : 25
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667452
Question Shuffling Allowed : No

Question Id : 23366711326 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage and answer questions based on the passage:
Moral education centres upon this conception of the school as a mode
of social life, that the best and the deepest moral training 1is precisely
that which one gets through having to enter into proper relations with
others mm a unity of work and thought. The present educational
systems, so far as they destroy or neglect this unity, render 1t difficult
or impossible to get any genuine, regular moral traming.

Sub questions

Question Number : 1 Question Id : 23366711327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to the writer, the school 1s a form of
Options :

.« individual existence

, « religious life

, « spiritual life
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. v social life

Question Number : 2 Question Id : 23366711328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

Moral training, according to the passage, effects
Options :
. »aunity of work and thought

, . entering into proper relations with oneself
. » the skills of work

, « the skills of thought

Question Number : 3 Question Id : 23366711329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The writer’s attitude to the present education system can be described as

Options :
.« Critical

, . adulatory
, » defensive

., «» indifferent

Question Number : 4 Question Id : 23366711330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The central concern of the passage 1s
Options :
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. spiritual education / spiritual training
, » work education / work training
. » moral education / moral training

, « thought education / thought training

Question Number : 5 Question Id : 23366711331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the word from the passage that 1s a synonym of accurate
Options :

.« Conception

, « Neglect

;v Precise

. » Genuine

Sub-Section Number : 2
Sub-Section Id : 233667453
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 23366711332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

Correct the underline word in the sentence below. by substituting with the correct word

[ pray for god to give me strength
Options :

. regarding
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). v 10
3 ® Of

. « With

Question Number : 7 Question Id : 23366711333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

I think he 1s honest man
Options :

1. ® the

). v adll

% d

(98]

, » o article

Question Number : 8 Question Id : 23366711334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This 1s car my friend bought last week
Options :

1.« the

2.$$an

3% d

4 »no article

Question Number : 9 Question Id : 23366711335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 5/110



6/7/25, 12:25 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

Indeed, I am not sure his success
Options :

1.« Of

, « regarding

;. » about
4 % Off

Question Number : 10 Question Id : 23366711336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

They saw him fell his horse
Options :
. = after

, « against

4. Off

Question Number : 11 Question Id : 23366711337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The will meet again, to discuss the matter
Options :

.= Comittee

, » Commuitee
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;. v Committee

4. » Comitee

Question Number : 12 Question Id : 23366711338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Cricket team are 1n a mood
Options :

.~ buoyant

, » buoyent
, « boyant

Question Number : 13 Question Id : 23366711339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Had he studied hard, he passed

Options :
|« has

, » had been
;. »would have

.+ » have been

Question Number : 14 Question Id : 23366711340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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[ wish I her address

Options :

|« know

, » have known

, » may know

. v knew

Question Number : 15 Question Id : 23366711341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

Incredulous means
Options :
 » obliterate

, » skeptical

.« bractical

, « INsane

Question Number : 16 Question Id : 23366711342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Precipitous means

Options :
| o Very steep

, « very deep
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. « presumption

, » nascent

Question Number : 17 Question Id : 23366711343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

1s a synonym for ingenuous

Options :
.« Clever

, » Ingenious
, v honest

. » Indecent

Question Number : 18 Question Id : 23366711344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Keenness 1s a synonym for
Options :
.« abjure

, » enigma
« skip

4. v aCUINCI1

Question Number : 19 Question Id : 23366711345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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[nvincible 1s an antonym for
Options :

. »conquerable

, . transparent

, » f1asco

Question Number : 20 Question Id : 23366711346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into a simple sentence
He wanted to play with his friends and so he finished his home work quickly

Options :

.« As he wanted to play with his friends, he finished his homework quickly
, « S0 as to play with his friends, he finished his home work quickly
. « He wants to play with his friends and they he finished his home work quickly

, »In order to play with his friends. he finished his home work quickly

Question Number : 21 Question Id : 23366711347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following sentence into a complex sentence

“Despite several obstacles, she succeeded finally”
Options :
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. In spite of several obstacles, she succeeded finally
, « Not withstanding several obstacles, she succeeded finally

.~ Though there were several obstacles, she succeeded finally

, « There were several obstacles and still she succeeded finally

Question Number : 22 Question Id : 23366711348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks :

Change the following sentence into passive voice

“I saw him opening the door”
Options :
. I saw the door and he was opening 1t

, « Opening the door, he was seen by me
. » 1 saw the door being opened by him

, » He was seen by me while opening the door

Question Number : 23 Question Id : 23366711349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into active voice

“I was kept waiting for two hours by him”
Options :

.« I waited for two hours because of him
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, . He kept me waiting for two hours
, « He 1s waiting for me for two hours

, » | was watting for two hours for him

Question Number : 24 Question Id : 23366711350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into indirect speech

“I will bring my laptop tomorrow”, she said
Options :

.« She said she would bring my laptop the next day
, . She said that she would bring her laptop the next day
. « She said she will bring her laptop the next day

, « She said she would bring her laptop tomorrow

Question Number : 25 Question Id : 23366711351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Change the following into direct speech:
“She said that she loved pizza so much”

Options :
. »She said, “I love pi1zza so much”
, « She says, “I love pizza so much”
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, « She says, “I loved p1zza so much”

General Knowledge

Section Id : 233667378
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15

Section Marks : 15
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667454
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 23366711352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The primary function of the Election Commission of India is to:
J
Cfpff[,/u":?[mlcf[/bix__-’ J.MJ‘_/*"LJ
Options :

Formation of laws ,

. /v e
s
1% ¢L“/JU‘:'})
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Conducting elections

)Ml L/I-QI:I_';':}

2.

Pass budgets |

(f/}i/ll(jb%

Managing Parliament sessions

s Ko £ vk

Question Number : 27 Question Id : 23366711353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The largest freshwater lake in India is:

/ F b _ T ia .
b 000 ot 6l o 33k O

Opﬁoz;:cmbanad Lake
b |«
1. % (J’:-a? - L:f‘:‘}

Dal Lake

e
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Wular Lake

3. (}:"lj?/j)

Chilika Lake
g U

Question Number : 28 Question Id : 23366711354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The term "carbon footprint" refers to:

4.

/ y , L/
ol Y = O

Options :

Growth of forests

/
LG s

Water pollution levels

P w/’v’

Total greenhouse gas emlssmns

&1 ‘,L/{/u},,»’ ot U’J

p
d

3.
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Fuel efficiency of vehicles
B A g : % Y 1/
/ﬂ/ﬁ/duwf' s vy ¥

Question Number : 29 Question Id : 23366711355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

India’s first mission to study the Sun is:

i Loy o X0l S iy o0 Vs

Aditya-L1
-~ /J
| 1. Py
Chandrayaan

Surya-N1

L

1. ¢
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Vikram Lander
' 7
s jidl "/

Question Number : 30 Question Id : 23366711356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The 'Green Revolution' in India was mainly associated with:

¥ b ) c‘—’f/f/;f b s>l wuul/_/w ST

Options :

[rrigation reforms

<o ya? | fo’l; G
Industrial development
)% Ljo‘/.f UJ/A/
Agricultural productivity

Syl S

3.¢
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Environmental protection
bos Uy Lo

Question Number : 31 Question Id : 23366711357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not a fundamental right in the Indian Constitution?

. - . . Vo ‘ i
gq:’()fdﬂ-L,"Q.“u*,” olgm Le0sd vy S 2

Right to Equality
6) L/ &/’ }’

Right to Property

1. %

sl b

2.

Right to Education
3. %
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Right to Freedom

% Y g0

4. %

Question Number : 32 Question Id : 23366711358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

UNESCO stands for:

" S
/- gy
2y AN o
Options : i
United Nations Educational, Scientific and Cultural Organization
T ... S e gr 9!
Universal Science and Culture Organization

5 '5‘/.7/’ N N :
U’:‘f/;:’UH/?) /f'uj' UM’L" Jros ¥

\

§

1.¢

2. %
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United Nations Environmental, Scientific and Cultural Organization

ff:*;@é[ﬁ 51 U,',’.L,, “ Uyl G/d/.;’/‘ !

3. %

Union of National Education, Science and Culture Organisation
s} d/r[-wc;—.’tljl;’ut“’b" ’f“f""u’-”

Question Number : 33 Question Id : 23366711359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Indian Parliament consists of:

or - P [J l)"z»:’/ﬁ/;/
Options : c‘f’ M d /)J ‘/ﬂ)’)} C

Lok Sabha and President

,J/uﬂ 51 [ﬂ-""/c-)/)’]

1. %
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Lok Sabha and Rajya Sabha
s
bl o e
Lok Sabha, Rajya Sabha and President
} 7 4
2wl sl Ly b

Rajya Sabha and Supreme Court

32»-’)3/(‘4%/ 21 g 22

4. %

Question Number : 34 Question Id : 23366711360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The capital of Uttarakhand is: y,
/ / [ f1-
s & Loy g UV L

Mussoorie

Gy
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Nainital

Jhsb
Dehradun
v
V25 L2

3.

Haridwar

R & A

Question Number : 35 Question Id : 23366711361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which Indian River is known as ‘Dakshina Ganga’?

oWl bl @ 28, v L Loy Volss

Options :

Krishna
L//
1. ® .

Godavari
78
L G
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Kaveri

L'/
. 67

Mahanadi

L]

CfﬂLg

Question Number : 36 Question Id : 23366711362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

'One Earth, One Family, One Future' was the theme of which recent international summit held in India?

/o e 0 s, o & AR ‘/UL’J‘”' u"f-/”
dus (! o 0 o M{, Jor K od
(€

17

@ Sumemit
L 7.2
ol 76
SCO Summit

el A s T
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G20 Summit
Lol gl 2006

BRICS Summit y

Question Number : 37 Question Id : 23366711363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The primary role of NITI Aayog is to: ”
oo 2 e ¥ Sl

|' -
Options :

Conduct elections

>t Vel

Formulation of policies and strategies

Ly o A
J:J«ﬂfo’(_)f:,u‘l?ﬂ” Uy:’-”;

2.9
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Collecting taxes
/
34 4
. W

Enforcement of laws

3.

S g

4. %

Question Number : 38 Question Id : 23366711364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The first Indian woman to go into space was:
0o Ol (ol QY 1l g A
FUCMU"’J (;J)J(;-Ug u’()L—,/f/f G?.a_. o
Options :
Sunita Williams

/;/3_]; b}w
1. ®

Kalpana Chawla

r'ﬂf; C,L/
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Ritu Karidhal/_
)j ~
3 % (}&-/l )f//
Tessy Thomas

-}
g g

Question Number : 39 Question Id : 23366711365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which country recently exited the European Union (Brexit)?

y B ' 4 b2
fé”d’éc—*f@a”};’%ﬁﬂ o g db e Logsy

Options :
Germany
L]
B v A
France
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[taly
&

United Kingdom

.

Question Number : 40 Question Id : 23366711366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

‘Mission Shakti® was related to: p

) LA
A itV )
Options :

Women's empowerment

.

; bl Lot by 17

1

Anti-satellite missile test

_ ¢ b
L 2 £
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Cybersecurity program

/
Py o AL

3. %
Skill development for youth
‘ # 7o
s ; ParE
4. % ‘ L =
Teaching Aptitude

Section Id : 233667379
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667455
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 23366711367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The purpose of formative assessment is:
/ § vl 1 -
WIS W
&= g 8
Options :
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To assign final grades

/ . "f\, T = : >
e ey by, &
To evaluate teaching staff
L 07 b V IE (57
To improve learning while it is happening
Boyn = F F
fat py B2l ol g
3. > Ct:J Lf/l 09/

To promote students
2l S
A2 ey oL

Question Number : 42 Question Id : 23366711368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which learning theory is associated with operant conditioning?

: / 2 7
- a /‘,- ) ol I sily i &

Piaget’s theory

B
LG Rl

Skinner’s theory

Maslow’s theory

G gl

Gardner’s theory
, vy
Gy 0 50 b

Question Number : 43 Question Id : 23366711369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

Authoritarian discipline

. 0 " ~
o s fﬁu J'/ﬂ I
Passive learners
[ sl JB
2y sthr Jbs
Student participation and dialogue
st =ity
o R B 23 L L
Teacher-centred teaching
L | N . r..-.LI /
/,}v e 4 o
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A democratic classroom environment encourages:

o TR / !
aUi§U Loy th idple ¢ e %/é‘w"' A
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Question Number : 44 Question Id : 23366711370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one is an example of intrinsic motivation?

JLA | Lo guj,labdwﬂf

Prize for winning

1. %
Fear of punishment
S A
Desire to learn
e A A
ol 8 L0
Parental pressure

5 bs Ver A?

3. ¢

Question Number : 45 Question Id : 23366711371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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A teacher using Bloom’s Taxonomy should aim at which higher-order skill?

A . S : /
Lot gl Vol Ay LA\ Y G o G Sb
Remembering facts

‘ J )
. Lk eb

Applying definitions
LY Sy it
Ly Ju o™
Creating new knowledge

Ry

Understanding rules
A
LLF7 9 v 9

Question Number : 46 Question Id : 23366711372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

2. ®
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In pedagogy. ‘feedback’ helps:

a 7 Co =
Vo tpod et

Options :

Punish students
-
LY ’ :
A i w

Modify teaching strategies
Ay

y
S u Lt
| Give homework
t,: > ‘__)f:r/" f %
Mark attendance

: I
Lol 5 a2t

Question Number : 47 Question Id : 23366711373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Which among these promotes inclusive education?

- o
0l gy 3 @ el g0 2o

Segregated classrooms
f 7

ooz 3 P

Fixed curriculum

o o)

Adaptive teaching methods

Competitive grouping

s -
G 02/ A L

3.¢

4. %

Question Number : 48 Question Id : 23366711374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which is a barrier to effective classroom communication?

P
?af’x.lﬂ-*ﬁk/,) (3'/();4 QM‘)//T/}’ e

Options :
Use of visual aids

J QJJ’ Vv T S
Clear articulation

% w2l

Language mismatch

) Of:ﬁﬂt’ o @'f/‘

Active listening

. b dlo

Question Number : 49 Question Id : 23366711375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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A good teacher evaluates students by:

f:
el oh ghs gy e b

Options :
Comparing them with others

» /

L/J;J)L,/ Vol gl. Sys 55
Judging their behaviour
LI ) W Ve r) Lo
I[dentifying strengths and weaknesses
. Yl dyprh o 0558
[gnoring slow learners

U e 2

Question Number : 50 Question Id : 23366711376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Effective teaching is primarily about:

‘EJU:L&—/({ L/aﬂjf/;’ ,r)«l" d‘)(:;{ ‘ (-",l.‘;—/‘;/

Options :

Completing the syllabus
b yde 7 — Lo
Giving maximum homework

o Sitw ol o ol

2.

Enhancing understanding and engagement

lafy i 2 i (1)

Following textbooks strictly

3. ¢

; ¢ A .
Vs 57 gl

Mathematics Urdu
Section Id : 233667380
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Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 100
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 233667456
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 23366711377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following differential equations is not first-order and first-degree

g B g
J) l—?”’d” L. SO eyl P L}Jp ~rZ ) sao
) %?Lﬁ*cﬁ’gﬁ;;

Options :

Y—x+y

1% dx

g oo
2JM)+y 0

Question Number : 52 Question Id : 23366711378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
https://g01.digialm.com/CAE/viewHtmIPDFAction.action
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Correct Marks : 1 Wrong Marks : 0

The orthogonal trajectories of y = ax®,y = ax"
-
J / 1 /. AL - q"?‘-
«,__,J_J? b @;)kf: 3 4> a - ‘d
Options :

X% 4 2y% =¢*

2 B i
X P4 g T

2 ¥
30X +ny“=¢c

I
o

Question Number : 53 Question Id : 23366711379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

. . : . d 2
What is the integrating factor for the differential equation é + (;) y =%

3jfawd--l-' Lt_/i91*”‘UJJ ““6)3””

Options :

mf’xz

1
2. % X
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3.ﬁx

Question Number : 54 Question Id : 23366711380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Solution of non-exact differential equation (1 + xy)ydx + (1 — xy)dy = 0 with

dﬂ lo/ | 4 (m‘})’nh-\' (1-—7‘*:1)6!&:{-’-& u)g\_,,_, UJ_) L}LJ‘/_/_F
L
e djfo d_.:\, ¢ .

Options :
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Question Number : 55 Question Id : 23366711381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

: : . d
Find the general solution of the differential equation };% =g+ 2.

A'U _GA -

deﬁ L/L___Jjgt_/ JJS

s5x3+6x—3y+3C=0
,«12x=3y*+C=0
L2 10x3 4+ 12x -y +C =0

Question Number : 56 Question Id : 23366711382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

WL =2 d
Solve p? = 7p+12 =0 forp /\%_7 K =2 § I

Options :
L o =Bx =)y —dx—2)=0
e(y—dx—-c)y-2x—¢)=0
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(Y +3x—c)(y—4x—c)

I
o

I
-

Lx(y=3x—c)(y+4x—c)

Question Number : 57 Question Id : 23366711383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The solution of the differential equation y = px + /4 + p? is

djl{ ?jzpnar ‘1-“'91"‘-&}—91}’“0;))#
T -Cx 4 =0
o (V= CX)? +4C2 = 0
- -C* =4
L(Y—=Cx)*—4C? =0

Question Number : 58 Question Id : 23366711384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following equations is solvable for y

%GJ},”&-&&&L‘-» o (| = 2\2/"(’] O J3 rz i5h0

Options :
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Xy =1
, et yti=1
s edX+2y=8

,xXt+y=landx—-y=1

Question Number : 59 Question Id : 23366711385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the general solution of the Clairaut's equation y = px + p?

2\ = (gae € sl Zanyg s puane?

o= Cx4C>

I

Cx + 3C*

%Y
ay=Cx+C*

Question Number : 60 Question Id : 23366711386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The particular integral of (D% + D + 1)y = sinx is

r‘l“égj’}a_; L’,/ CD%.:..D -H> 'd - Sin=x
i

, # —=SInx
; x COSX

4. —CO0SX

Question Number : 61 Question Id : 23366711387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The general solution of (D — 2)(D + 1)* = 0.

dyd)f ¥ (p-2D (D) 20

Options :

% Clezx + Cgex + Cgehx
L oC1e%* + (¢ + c3x)e™™
o (c1c05x + ¢35inx) + c3e%*

, «C18%% + (€ + c3x)e*
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Question Number : 62 Question Id : 23366711388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

[f m = =2, m = =3 are root of the auxiliary equation of a second order homogeneous

differential equation, then the differential equation is

GP GP\leie S22 22 0Bs5 a3 _mz-2 5

h

gl U:/S‘__.: G- “3'_'/ i"‘ --‘fn‘—'lful,a

Options :

L(D*+5D+6)y

I
S

,«(D*+4)y=0

(D*=5D+6)y=0

4.3%(D2_3D+ 1)}’:0

Question Number : 63 Question Id : 23366711389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The particular integral of f(D)y = e%* if f(a) # 0.

a"™L
AL 05 Sy B0 )//3 femdg=&

Options :
1

e
L« Fla)

—ax
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€ ax ¥ m

, #» @(a) m!

1 ax

o f@"

g% it

4. » O(a) ;

Question Number : 64 Question Id : 23366711390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If Q is a function of x, then the value ofﬁ Q is

a - /
iR I LIPS

1.%6’_“:( J‘Eax de
U e &% fe—ax de
%e—a:x J‘e—ax de

e X J‘eax de

3.

Question Number : 65 Question Id : 23366711391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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i 1
Find the value = g =

Question Number : 66 Question Id : 23366711392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ex

1+e* =

The Wronskian of the differential equation E - 3 — + 2y =

* A
é-f-!"l) \F/L_—-'Jng't_m- "\_?/0_3 ____-—a—-? -3 j"{ +D"a =

Options :
X
1. %€
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2.V€3x

3. %€

4.%953(

Question Number : 67 Question Id : 23366711393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The solution of the differential equation is % =sin(x+y) + cos (x +y)

/ CJ s 3 L...-:- 2 W)
f 5/,___.;-1-9 - S\ Q""‘ﬁ) A lan @*3) 9 Jj_)
A

Options :

X In(1+tan,—i~(x+y))+c

Le X = En(tan(x +y)) +c
xXx=nlx+y+c)

ax=tan(x+y+1)+c

Question Number : 68 Question Id : 23366711394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Solve (x2D? — 4xD + 6)y = x* where D = i ,_\ d S

D=
At Eoans sy P

Y =01X% + ¢3x% — x*logx?
L« ¥ = x2 + cx® — xlogx?
LY =cix? +cx® — xtlogx

x Y = X% + cx? — xlogx

Question Number : 69 Question Id : 23366711395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The polynomial 2x% — 4x + 3 in terms of Legendre’s polynomial is ......

/r = = o8 . .
S paanes O S lbe ) (902 (5%

- (4P, — 4P, + 11Py)

1. %

1
ﬁ§(4P2+12P1 + 11P0)
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3 (Py—12P; + 11Py)

g01.digialm.com/CAE/viewHtmIPDFAction.action

N% (4P, — 12P, + 11P,)

Question Number : 70 Question Id : 23366711396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The linear differential equation (x"D™ + a;x" " 'D"™* + aq,x"*D""* ..+ a,) =X

represents

-y M~ =3 ) s La_} -'
X = Cm") D)3 a7 ‘o \+c~=r%-' D l»»rh-d@ M =
= J’)/&;is
Options :

Cauchy Differential equation
oY U T
PRSI N JETaN

Legendre Differential equation

LSSk
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Gauss Differential equation
s i d JJ = 5

Albert Differential equation

e . @)JQ_:/J]

Question Number : 71 Question Id : 23366711397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the Cartesian equation of the plane passing through the point (3,2,-3) and the

normal to the plane is 4i—2j+5k?

-_— ’/q .-J Lo |
(s )30 F Coniem (32 -3) B 57 File

s & aw
uﬂhjuv\ﬂ&ﬂ-pg‘} c(ﬁ&)ul@d —.1_:) #-SW

L

Options :

o AX-2y+52+7=0
, w 3X-2y-3z+1=0
s » 4x-y+5z+7=0

4« 4x-2y-z+7=0

https://g01.digialm.com/CAE/viewHtmIPDFAction.action
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Question Number : 72 Question Id : 23366711398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

There is a rectangular garden of 220 metres X 70 metres. A path of width 4 metres is

built around the garden. What is the area of the path

' b ’ )
D2 o IS EN (Pa 2y, Ly Jp 230 70
r—yx%ﬁ-’_‘)cg “ [ Ly &~— VYV
W6 YL g

Options :

. 2472m?

, « 2162m?
3. % 18367’7’12

. v2384m?

Question Number : 73 Question Id : 23366711399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not the correct formula for representing a plane

§ :
f , /
— o S
Options :
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1. ® Fﬁ -_— d

,xax+by+cz=d
xlx+my+nz=d

vval+bm+cn = d*

Question Number : 74 Question Id : 23366711400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

[f the plane passes through three collinear points (Xy, 1, 21), (X2, Y2, 22), (X3, V3, 23)

then which of the following is true

' /L; 9 2 ) # ’ ‘
. N LL’_; (%,,‘0,15.)(7'1 ‘ﬂih)(""“‘*}))d—’ F
C,"i(ri'_fas 5_; et L/- zf/cf_“c..;ﬂ-ﬂ

Options :

W« X1Y121 + X3Y22; + X3Y323 = 0

X1 1 2
X Y2 2Z21=0
,o1X¥3 Y3 Z3

https://g01.digialm.com/CAE/viewHtmIPDFAction.action
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X1
Y21=0
3. ® Z3

4« X1X2X3 + Y1Y2Y3 + 21223 = 0

Question Number : 75 Question Id : 23366711401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the equation of the plane passing through the three points

(2,2,0), (1,2,1), and(-12 5 L i
I e P T e R e

'-’,)L-«-)J’“_’”'L‘“-i—cir)_-o

Options :

T =QRi+2).[(-i+k)x (=3i=2k)]=0
L (F=Bi=2)).[(-i+ k) x (2i=2k)] =0
(T + Qi+ 2).[(—i—k) X (=3i—=2k)] =
(= QRi+2).[(-i-k)x@Bi+2k)]=0

Question Number : 76 Question Id : 23366711402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Two lines are said to be perpendicular if the product of their slope is equal to
Olb’} U”J’C’)UJD*)’P)){TO‘-’(J,}% 3>

Options :

1.¢'1
2'%0

3. ]

ax /2

Question Number : 77 Question Id : 23366711403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the distance of (5, 12) from the origin?

J
,
el Vs ) =2
Options : -
1 % 5 units
2,%SUHitS

3 » 12 units

4 v 13 units
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Question Number : 78 Question Id : 23366711404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Two lines are said to be parallel if the difference of their slope is

i ¥ L/(Jk‘l%\é'u@f.fuf:h;fw’;w:— b b= 5>

_—
Options :

%=1
2.v 0
5% 1
%2

Question Number : 79 Question Id : 23366711405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

_The equation of a straight line that passes through the point (3, 4) and is perpendicular

to the line 3x+2y+5=0 is - 2 JL;) - |

27 +22\J +C=0 J3) "’}é 2 = ( 2:4) oF (L_,-"’ 3;5-
“":"*)iﬁzf/!c—_;:f 018 35E F (e

Options :
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| v 2x-3y+6=0
, « 2X+3y+6=0
5w 2X-3y-6=0
4 2X+3y-6=0

Question Number : 80 Question Id : 23366711406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The angle between the line % = % = z—j and the plane 10x+2y-112=3

3-3 '
d BLgeer  gil s 2™
=) k>
Options :
cos™1(3)
1. % 8

sy B
2. % Ceh (21)

il

sin
. 21

3.

sin‘l(%)

4. %
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Question Number : 81 Question Id : 23366711407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The center- radius form of a sphere is

/s ~ o AU’/ ur’/“/
N Sy S B o o I

L XE+yP 4zt =12
L SE—a P+ y—b)+ (z~ ) =1

L w Xt yt =77

A=+ —b)f =1

Question Number : 82 Question Id : 23366711408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Two spheres are said to be in touch externally if (where d=distance between their

centres)

A 2
O’j){‘éélo‘(ﬁ—poijw 320 O Gy 0 5 5>

o JJL'(;,[._..);,_/

Options :

saA=n+rn
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zsadzrl_TZ
3.%r1 =13

4.%d = T'i.rz

Question Number : 83 Question Id : 23366711409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The centre and radius of the circle of x* + y? + z2 + 2x — 2y —42—-19=01s

) #
!‘*L'*(Jlisr"a-lﬁ”’*zj"%%ﬁ:-a o i BPTY J

o

5 Z 3}’; S
Options : \)_/ B
,(-1,1,2),5
, w(1i—=12)4
3, ® (—1J112)r _4

4 % (11 il 112)1 _4

Question Number : 84 Question Id : 23366711410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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The general form of the sphere is " - o b o
Kjﬂ—’ ) 9L_,0 d,u.é- 8 czj

Options :

X2+ Y+ tux+vy+wz—d=0
e X2+ Vi 4+ +2ux+2vy+2wz—d =0
X2+ Y+t +ux+vy+wz+d=0

so X2+ Y2422+ 2ux+ 2vy+2wz+d =0

Question Number : 85 Question Id : 23366711411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the value of & where the angle between the plane 2x — 3y + 6z — 11 = 0 and
the x-axis is sin™*(a)

N . o -
plady SRS AR BB*égﬁ" PRI
(:""“:Jx!o( \__:) Cr’_: 5,,,:}(@!)

Options :

@ |&

=1l
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Question Number : 86 Question Id : 23366711412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The total surface area of a cone with a base radius of “r”” and a slanted height of “[” is

equal to .
W‘)‘f L Wha s I h—-}" L—jﬂf”" (afg—r QJJC;!Q"“" LJ-tL" 4 b:’f
Options :
LwTrl + 2nr?

, & 2mrl + 2nr?

L entrl + nr?
4. % 27[?‘2

Question Number : 87 Question Id : 23366711413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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What is the total surface area of a cone with a radius of 7cm and a height of 24cm
(] . _— _ /
s

Options :
La 71 Ucm2
2. ¢ 7046?712

.« 700cm?

+ % 725cm?

Question Number : 88 Question Id : 23366711414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The curved surface area of a cone is 1980 cm?, and its radius is 21cm: what is the
slanted height of a cone

)if_mléami et JEBLT oI b2
*c;—'—bi/cg,q“__;/,_zm

Options :
% 25¢cm
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, » 38cm

1% 35¢m

.+ 30cm

Question Number : 89 Question Id : 23366711415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

). Find the equation of the tangent plane to the sphere x* + y? + z% — 4x + 2y — 6z +
5 = 0 which is parallel to the plane 3x+2y-2z=0

-nlﬁ-’ﬂmﬂyﬁq-’}’#lapégq,;;o %’)/77 Sk R -J//di . (Jb#
Oz @57 !3"’““8"1%' 20 = Jur ;s

Op3x +2y—2z+3+2V17=0

w3+ 2y -2z + 3 - 2V17=0

Lv3x+2y—2z+2+3V17=0

Lx3x—2y—2z-—3-3v17=0

Question Number : 90 Question Id : 23366711416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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. A right circular cone height 15¢m and base radius 15c¢m is curved out of a wooden

sphere of radius 15cm volume of the remaining wood (in %) is

}ﬂdﬂJo‘L’p:/«'—’ S Ok &= 5 bf (> (“C
"“OQJ)LJ,» V)uy._ps/ LT
WLL{)JJL._{G%C’?’
e
L 375
,« 50

4v 15

Question Number : 91 Question Id : 23366711417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let Z, ={0,1,2,...,n — 1} fails to be a group under multiplication modulate

because
¥ r o / i ’ . % ” """'ll
{ V,,.,--f-’::lo/;}f .éf(_:r"L:;'—-ﬂ JJP .zr-n-{”:’ﬂ) JJ

Options :
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e Lo Liowls & gu Lo
.« Closure property fails

Closure property holds but not associate , F’ Jf G S\ g_;.,[;& o
g o2
&

2. %

\ L] -
There is no identity o o &) 3 Caoits 2o\t

Jf ‘Ol,i/:f&r’_y‘/i:o

There is no inverse for an element “0° of the set )

- \
A p 2
4. ‘V:"”&J

Question Number : 92 Question Id : 23366711418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If ‘a’ is non-identity self-inverse element then O(a) must be

. | . .
g);’ Oca«): —

Options :

%5
2%4
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3_&%’2

axl

Question Number : 93 Question Id : 23366711419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The number of generators of a cyclic group of order 60 1s

’ Z
)b’j/o:»w a,)//é'o f.—"*’/ké'f’g'?"’"’ S

w32
v 16
3% 8
4 %30

Question Number : 94 Question Id : 23366711420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the order of the non-abelian group

A 1
) tu/h::_/ V L;-*}_f/dﬂfJ/:f

L% 4

2. 36
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3% 25
1249

Question Number : 95 Question Id : 23366711421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let G = {1,—1,i,—i} is multiplication group then A PR e o (G
- b
-~ V4 § ) L / 2
e 3/ )
Options :

G is cyclic and ‘1’ is the only generator ‘ G
Vs Y 90 389w 23) (&7
27

G is must cyclic {{,HQ"JPJ’ ¢ il G)

2. ®
G is cyclic with two generators ‘i” and ‘-1’ ., Jau 97 4'[ G
‘gg ?;J ~ -:1' P ] ™ il
3.9 &
G is cyclic 1’ is the only generator P, C::_: (23> G

Wy Y= > G,

Question Number : 96 Question Id : 23366711422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Let (G.+) be a group. A nonempty subset H of G is a subgroup of G if and only if
a,beH

%@#Jd[’/ﬁff H . “"u’//f LG JH) )J/"E’j
= 9,bet -ﬂ:__,/*" ?J)_Jj'g@

Options :

] % ab'leH
»«abeH
,oa+ (—b)eH

4. % a + bhlEH

Question Number : 97 Question Id : 23366711423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let O(G)=12 and the index of a subgroup of H of G is 3. then order of H is

.
G &,,z_j h r—’ﬂb!lo/i—-’ﬁ_)/;&’o 3) O(m)”‘l" )/;
ey 2= 3 £

Options :

%2
2vd
3.%6
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4. % 12

Question Number : 98 Question Id : 23366711424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Every finite group G of composite order possesses

A RS A

improper sub group

]
(_Jy’{/-ﬂ "\._J'-JLV,_{‘
i L

proper subgroup

2 )l =) 8
2.¢ s '

no subgroup P
W et o
57 =
abelian group ~
(7 JXE/QS' C}T-' hd
4. % 7

Question Number : 99 Question Id : 23366711425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

https://g01.digialm.com/CAE/viewHtmIPDFAction.action

70/110



6/7/25, 12:25 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

a, as.. a ,
aj?_ ;3 af) 1s called a ----- of length k.

?)—C,Lu( ‘”~> Asle, 2% Job

Q\L Qj - _— ql

A permutation of the form (

Options :
permutation

d> e

cycle
2.¢ {_9 )"’/b

transposition

At

Question Number : 100 Question Id : 23366711426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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If N and M are normal subgroups of Gand M N N = {e} forn € N,m € M then

- il »
Gwowztel 0 £ G ot oflS UsE oy om

s meM . MmEN

Options :
Ly NN = Mn

. W nm¢mn

;canmm=1

4.%n=m

Question Number : 101 Question Id : 23366711427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If G is abelian of N is normal subgroup of G then G/N 1s

UG 2—fCrat W o g v fds 6 3
SRS . R

Options :

. non-abelian (J"f J/';
Nabclian ())'7‘)
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cyclic

3. % U"-’?

non-cyclic Iy

4.%

Question Number : 102 Question Id : 23366711428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The order of the symmetric group S, on in symbols 1S

Options :
1.*= 1

. & Zn

3 nl

% (n-l)'

Question Number : 103 Question Id : 23366711429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If N is a normal subgroup of a group G and a, beG then

4
" . ~ /‘ ’é“ A

.

Options :

1. % NaNb = Nb

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 73/110



6/7/25, 12:25 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

»vaNbN = abN
3.%NaNb = aN
.« NaNb = Na

Question Number : 104 Question Id : 23366711430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A homomorphism @: G - G is an isomorphism if,

Options :
@ is one to one

| /7
@ is one to one & onto

FLr m L g

2.

@ is onto

@Uﬂiﬁ

3. %
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@ is neither one to one

<o ol & £t L g

4.%

Question Number : 105 Question Id : 23366711431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following set is not a ring

rk)__-;k___.uh-l,_‘_}‘ f.-d._-:: f‘;’)):‘-"

A (yr

Options :

.« set of real numbers e \.,/,:n‘u-f‘) ol

set of rational numbers

Q__,,,V;HJJGJC

set of natural numbers

. S > (b

set of integers

e cbv\/)v“@l

Question Number : 106 Question Id : 23366711432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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If R is a Boolean ring then

- " 74
D=2 asedyd RS

Options :

L +a+a=a,vaeR

,«a@+a=1VaeR
sva+a=0VaeR

,«a+a=—a,VaeRr

Question Number : 107 Question Id : 23366711433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

—_ J / ; ,
Which one of the following is correct < Oolo L > U:’(}-' > (D)o

Options :

every integral domain is a field
= e Al

An infinite integral domain is field

e CJY92S J!':)dej@umu/:
7 4 o -

2. %
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A finite integral domain is a field

%O‘”*g‘jmé{ G Lz 1

3. ¢

integral domain is a field

“ad, (2 »2* d,_{)'rj’)i!‘g

Question Number : 108 Question Id : 23366711434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Number of 1deals a field has
Oryn B Do Alis

Options :

L%
2‘%1

3% 0
4.@"2

Question Number : 109 Question Id : 23366711435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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If R is a non-zero ring so that a® = @,V aeR then the characteristics of R is

f),vLaaF:L .-:;?":"_Q_ ‘-—-"-"' C:’ (—-P_Lyfff‘ »_ﬁ-ﬂ') 'g

o —
-

c o —— Q =l 3

Options :

Lv2
%3
5 x4
+%6

Question Number : 110 Question Id : 23366711436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If (G,0) 1s a group of order 24 then G can have a subgroup order

L,/'u,pc_,d’G __,f,, 2.4 rv’fo[’/@ ,.____‘_,j/

'%9’:‘ "-———---(:\’j//-’)

Options :

1%
2% 1
3.%"8
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a9

Question Number : 111 Question Id : 23366711437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A set A is said to be countable if there exist a function f: A = N such that

lﬁ’&{_,b{f;uz e )(A B 2 (}‘ts;.' ,JP:A*'%N J//i

Options :

Il oo L 4

_» fis bijective

A

, « T1s surjective

|r""‘ - 4
o 32 OLL 4
, » f 1s identity map
f is additive identity

Question Number : 112 Question Id : 23366711438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which of the following are true about Dirichlet function

. I : .
= Gl o Syl &ash s Lo s (2 2

D richlet function is continuous everywhere on R.
iric ry {ﬁ C}"[“' % K
(A R L/

Dirichlet function is discontinuous everywhere on R.

! 2 3B L

2.

Dirichlet function is continuous only at rationals.

7 (p\, = Jé‘*d‘“é’l"““b"’

Dirichlet function is discontinuous only at irrationals.
PL oz (=P Pl &
/>

Question Number : 113 Question Id : 23366711439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

. , ¥ s
Choose the correct option 3 J/ Spt;‘, s (s >\s

3. %

4.%

Options :
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Leta, b € R and f:(a, b] — R continuous on (a, b] then f is bounded on (a, b].

P @) 2 ef:(ur]sR ) abER

S Gr) 2w § =

Leta, b € R and f:[a, b) — R continuous on [a, b) then f is bounded on [a, b).
/&)9 ‘c':ld"l“"’g anlﬂj]—%ﬂ /33 9,bER
:7 1 ' “
P oI B ol e
Let a, b € R and f:(a, b) — R continuous on (a, b) then f is bounded on (a, b)

/;Cc:},)p 4:-:-(}-(,‘:,}3@,5)—39./” 8.} c e

Let a, b € R and f:[a, b] — R continuous on [a, b] then f is bounded on [a, b].

Fa E%ﬂ agh (= 4 [56)3% 5 o) ce

Question Number : 114 Question Id : 23366711440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3. %
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Let a, b, ¢, d € R. Choose the true statement. |
e Gols D apod €k 2D
There exists a continuous onto function f: [a, b] — [c, d].
Mo swroloy e gte 4 oLl » [0
There exists a continuous onto function f: [a, b] — (a, b].
Vs Sy dp[u/ /,dr 52 dnlm % t]:qj.iz] - @.;'Lj
There exists a continuous onto function f: [a, b] — [a, b).

%,;J:»?}-adrajﬂ A e f Ja1) > [5:2]

There exists a continuous onto function f: [a, b] — (a, b).
e’ g ' Q;}) > Cq’l’
’fﬁs;w,wd'u,g/;(}md,x,ﬁ@i] ]

Question Number : 115 Question Id : 23366711441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Options :

2. ®

3. %

4.%
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Choose the true statement.
3 AJ_J B b ke
Options :

Continuous real valued functions are Lipschitz. - =
d PRI SE NG ?

égyo‘?"‘-:'/dr

Lipschitz real valued functions are Continuous. . e ;:—:
; k3% o I G &7 o
o JAe s JF

2.

Uniformly continuous real valued functions are Lipschitz.
5 ) -~ - ~ -
ot &7 P e @us s oLl
Continuous real valued functions are uniformly continuous.

5 (M= GLL e W 03 @ e

Question Number : 116 Question Id : 23366711442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3. %

4. %
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The value of lim (1 - %)x

X—=00

1 i 3
);ff Lé’— CI%%)
N3,

Options :

1.%].“2
2.%1

5. 0€

4. % 00

Question Number : 117 Question Id : 23366711443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The value of lim (tanx logx)

X—0C0
A
/)ﬁ 3 L;:/ CF’\"\'L lud ’l)
ADD
Options :
%2

2% ]

3.%3
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4.-\4’0

Question Number : 118 Question Id : 23366711444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

') =50
f(0) = 1 and f(x) 1s defined for [0, 1]

Yy l:_/,}co 39 (= 9 33‘5\: o 8 G =2

Rl Ses

Options :

% 0.5
2 %15
3 % 2.9
sv3.5

Question Number : 119 Question Id : 23366711445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If f and g belong to R[a,b], then choose the false statement.

74
2 o Ghae C;'i,ﬁ[q)b] GVs> 4,3 )/l

= LSOl — s ¢

https://g01.digialm.com/CAE/viewHtmIPDFAction.action

Then what would be the sum of the lower and upper bound of (1), if

#

= g
f“'ﬁ[ﬁ;’? “-'»’9/9” -a"ﬁ('-") 3 L2 - L

»
1
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Options :

the sum f + g belongs to R[a, b).
1,3@‘(:"{:)-"9:‘«:.4{:; R E&;Q J"e ‘é ’?+a

the difference f — g belongs to R[a, b].

o G 2R [ook] ooV ED

2. %

the product f.g belongs to R|a, b].

. —% LU £,
=2 Gla & e{mb) = ot £:3
the quotient f/g belongs to R[a, b].

Fe¥ Y

L= A L]

Question Number : 120 Question Id : 23366711446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Forx € R, lim (G) sin(nx + n)) =

nN—0co

Sof e e L (La)s~néﬂmw)>

A e S

Options :

e=]
2v 0

3%

4x2

Question Number : 121 Question Id : 23366711447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find T =

n(n+1)(n+2)

o\ = S
m >\ N +) ["I"\f‘L)

Options :

2% 0
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1
3.% 2
1

4.v4

Question Number : 122 Question Id : 23366711448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Function f should be on [a, b] according to Rolle’s theorem.
- )
rc:/_\J/J[_q,L] ______..,Fdft.a/‘_’}fff":!ékf’ﬁ
Ve 2
Options :
continuous

non-continuous

A

o
integral

16
3. %
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non-existent

)
4. = ))7)"[__“

Question Number : 123 Question Id : 23366711449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What are/is the conditions to satisfy Lagrange’s mean value theorem?
2 J i Xy . - ” \ /
o\ 308 2 LA Gl r-,k)u_aE”,a E
Options :
f is continuous on (a, b)

/) CQ’Q g":’di“i

fis differentiable on (a, b)

A EY)
¥ (a,)) 2 TN ‘?
?
f is differentiable and continuous on (a, b)

p(an) 2smap i s

3.

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 89/110



6/7/25, 12:25 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

f is differentiable and non-continuous on (a, b)

R R
, o,

Question Number : 124 Question Id : 23366711450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Check about the continuity of function given by f(x) = vx in interval [0,2]

&l e = s o [0,2] ialle Je- T o L

Options :
Discontinuity everywhere

PNy o

can’t say about continuity of f "

. P I~ & -
it is not uniformly continuous
3 % ‘4" C,’j’ (}A—a Q L_/g ’P
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it is uniformly continuous
= JeolLd

Question Number : 125 Question Id : 23366711451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

4.

The value of “x’ for which the function f(x) = z—:j;—:z Is not continuous are
j»
, A =3 Ay o o
—— I g’ 4
- > ¢ &
= WJ/J 31*3?1 H)T /; QJ) 3
Options :
1. # 4 aﬂd '1
R 4 ﬂIld 1
3,#'4 and 1
. »~4 and -1

Question Number : 126 Question Id : 23366711452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find || P|| for the partition P = {1,4,5,8,13}
},jg,'fw el == 7 e .
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1w

2% 3
3¢9
4.3@7

Question Number : 127 Question Id : 23366711453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If f:[a,b] = R is integrable on [a,b]. then---- where M and m are supremum and
infimum of f on [a,b].

A
& My/[ﬂbj /'*?“’J:‘Cf[ ““

Qq 1 oy Is) r‘fﬂlﬁ

Options :

m(b—a)> [ f(x)dx > M(b—a)
m(b—a) = [ f(x)dx = M(b - a)
,m(b—a) < fabf(x) dx < M(b—a)

m(b—a) <f:f(x) dx < M(b — a)
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Question Number : 128 Question Id : 23366711454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the value of the given, lim (E)
x—={ \X

a/UJ___Ei.J
-\ cf 3 oA

N

%
m >0

Options :
1.v OO

2.%0

[

DWW

Question Number : 129 Question Id : 23366711455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Flndf xdx =

/GMJ a dA 2

Options :

1% 34

2.v32
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3. 21
4_%24

Question Number : 130 Question Id : 23366711456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What will be nature of the f(x) = 10 — 9x + 6x% — x° forx < 1

; ~ ~ dﬂ--—-’7’3
f‘?f l’!"“”‘:f«”b'*’i&/a L) (‘.Z‘,ﬁ("m) ~)o ~4m +b

<
Options :
Decreases
d e
i *
Increases

. Gl
Cannot be determined for x < 1

’/ L]
2 S Sy g om 2
A constant function

U e
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Question Number : 131 Question Id : 23366711457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let V be a vector space over field F then which are of the following is incorrect
] P s s ™
U”di’ Dy -;«%“fb"f_’v A G
"= LSOl ¢

Options :

V is an abelian group under addition
S xp N\ 2 S v
g 7 3 '

There must be two binary operations in V
i
K o 25> G2y

V is closed w.r.t scalar multiplication
>
’ e " Ny
/ i 2> ’\F) >3 = ol V
3. % 2

V is an abelian group under multiplication

v
= 4 SR 2 58 ey

2. ¢

4.%

Question Number : 132 Question Id : 23366711458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

If a vector u = (1,—2,k) in R? be a linear combination of vector v = (3,0,—2) and

N N e
w = (2,—1,—5) then o K) ~
G = [ """ e

" 5.2 g = L= .

a...:r C:;“ 61{53) (}9 (J/N C'zj_-JJﬂ-'f) Jos VN C?v)b;'ﬂ.)

-

Options :

1_¢>k = _8

) 5 (3 . --?)/K
. « k can be any real number > p (272
3.%}( =8

1ok =—3

Question Number : 133 Question Id : 23366711459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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If vector (xy, X2, X3, X4), (1, Y2, Y3, Ya), (21, 22, 23, Z4), (W1, W2, W3, w,) are linearly
independent in R* if @, B, y, § are scalars then a(xy, X3, X3, Xs) + B(¥1, Y2, V3 Vs) +
(24, 2, 23, 24) + 6(Wy, Wa, W3, W,) = 0 then the valueof a +f +y + d is

-z
(533) (3251 | Cemma) = )

o5y A B J(frwgiuéﬂ@’c"“'ﬁ“*)

< (Ztt2) +B (.Y, )%'{CB'};]S’K) SCLDU Wy Wy) =0 e U:f

. ol ¥pprdtd = ol
~
Options : .
L= 4
2.v‘0
3.%‘4
su2

Question Number : 134 Question Id : 23366711460 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Let S ={(-3,5,2),(0,2,-2), (8,-1%),(—-4,1,0)} be a subset of a vector space
R? then

Options :
S is linearly independent since it has finite vectors

v o2 eIz e b @aﬁ)LﬁDPO’-’S
S is linearly independent since it has more than three vectors

e | ~ S .
2 b e 2 or 2 e 2 Hlrsl g s

2. %

S is linearly dependent since it has finite vectors
- A — = (:'_"
=165y e G -

S is linearly dependent since it has more than three vectors

rd&”—ldz_o <

v

TN ANE

4.

Question Number : 135 Question Id : 23366711461 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Which one of the following sets of vectors in R* are linearly independent

~ ' y 3
. cf&?bpg-” . Ri’m;‘&\,}dj; S/ rao
Options :

. {(0,0,1),(0,1,0),(0,1,1)}
,.{(0,1,0),(1,0,1),(1,1,0)}
. {(1,0,0),(0,1,0),(0,0,0)}
.« {(1,0,0),(0,1,0),(1,1,0)}

Question Number : 136 Question Id : 23366711462 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not a linear transformation
] » ’ / I ?
A Gl ) (B L o fd ote
Options :

T VB(R) il V3(R) is defined b}’ T(x, Y, 2) = (2x -— 3};} ';o'y + 22)
= Bf'(/é}-”)p "rlvafﬁ)-"h\g(ﬁ)
1. % T ('}'J‘ﬂ)’b‘) 'T-‘Ql’ﬂ "'?:a 173'*'13’) — A
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T:Va(R) = V5(R) is defined by T(x,y,2) = (2,2x + y)

VPSS T Vs (R) = Va(R)
T(”‘ﬁ&?r) :[3’}2_:)[-1-'3> df‘-‘ - ,..éﬂ)? ! 2

2.%
T:Vs(R) = V5 (R) is defined by T(x,y,2) = (x2,5)
3.9 ) @f,?,%j = (1‘3) «

T:Va(R) = V5(R) is defined by T(x,y,2) = (y, —z,—X) \
v £
TG = (0,2 <= W g0y s T Vs (R b ]

Question Number : 137 Question Id : 23366711463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let W be a subset of an n-dimensional vector space V, then which one of the
following is not possible

. " “ M L e WYy

\é Y, y—i s o~ 2y i La) = 5

c=22 0 L L;,fc_:f()v,:fv P2 ) yoe -

/u;’_}

Options :

L« dimW=dimV
,odimW >dimV

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 100/110



6/7/25, 12:25 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

3_3@dim W<dimV
4« dim W=0

Question Number : 138 Question Id : 23366711464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let U and V be two vector spaces over the same field R. if T: U = V be a linear map

the which one of the following is incorrect

T UV Iﬁ,oﬁsb};q)}v)nu/{ﬁb)w

c - - z

Options :

e Ty —up) = T(uy) = T(up)uy,u; €U
L e T(Up +uy) =T(uy) +T(ug),u,u, €U
vo T(ugup) = T(wy). T(uz)

+w T(3uy + 2uy) = 3T (uy) + 2T (uy)

Question Number : 139 Question Id : 23366711465 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Let T:R? — R? such that T(1,2)=(2,3) and T(0,1)=(1,4) then

~—-:' IT?QQ’;?QL l‘é u CTJU':(-’-‘-JQ 73) T (o) = (nh) g

Options :
T is not linear

. = o (2

T 1s linear but not unique

i ]

! L / i i )
&f:r )_‘ ﬁ uhj )

2.4

T is linear and unique
= )JLQJA )9) & T

T may or may not be linear

PRl s 1

3. ¥

Question Number : 140 Question Id : 23366711466 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Let T:R? — R? such that T(1,1)=(2,0) and T(0,1)=(1,-1) then

e Y =¥ L ,_,L-,-, T2 (2,8) 50 T (6D :(1,~I)J//;
T4
.« T(5:4)=(1,0)
5« T(5,4)=(10,8)

v T3AH=(9.1)

Question Number : 141 Question Id : 23366711467 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

f 24 ]
Let T:U = V be a linear map the (_?, T .=V -
cﬁ G’/u -

Options :
R(T) is a subspace of U and N(T) is a SUbSpaCZi;V o W U r_!a_g e RET)
. o g
' v orlas s

https://g01.digialm.com/CAE/viewHtmIPDFAction.action 103/110



6/7/25, 12:25 PM g01.digialm.com/CAE/viewHtmIPDFAction.action

N(T) is a subspace of U but R(T) is not a subspace of V

) .
. ; . 4 el -
«at 62 Vv D las —=f gED S WU Ly o> N

R(T) is a subspace of V and N(T) is a subspace of U

Moy -
W~ les - )

3.

R(T) is a subspace of V but N(T) is not a subspace of U

oot VoLl od o LV el o e
« =2 r -

4. %

Question Number : 142 Question Id : 23366711468 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let T:R® — R3 be a linear map defined by T(xy,x;, x3) = (xq, X3, 0) then rank of T is

TCAA)=(H,20,8) - (= 500 o
e T (A.5) e g (> s T =2 &3 ﬁ

2o T S pess

Options :

L% ()
2.3%1
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3.%’2
4% 3

Question Number : 143 Question Id : 23366711469 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Let T:U — V be a linear map are U is finite finite-dimensional vector space then

which one of the following is correct
ol 2z U e che J . il o
(5= L5 2ot Golo o & ~ b =
?p;dlm R(T)+dim V=dim U
, » dim R(T)+dim N(T)=dim V
. « dim R(T)+dim U=dim N(T)
, »dim R(T)+dim N(T)=dim U

Question Number : 144 Question Id : 23366711470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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1 1 3
The minimum and maximum eigenvalues of the matrix [1 5 1|are-2and6,
3 I 1

respectively. What is the other eigenvalue

. S Xe oy (o)
;ﬁi 3'} e oaﬁb"é‘ X (RO V) O
(_.»—“/‘ "_/,Q,/J,':v w(ﬁ ‘ 79) -2

Options :

1.3@5
2.*#’3

3_%1

4.3@'1

Question Number : 145 Question Id : 23366711471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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2 -1 1
The characteristic equation of matrix A = |-1 2 —1}|1s
1 -1 2

-~ 2 -1 \ n
cosplaoagillea¥ | 5 & )l @ drpl
1 -\ 2

Options :

L« A3 +6A24+91+4=0
22 3 —612=-91+4=0
o3 =622+91-4=0
x A2 =612 +121—-4=0

Question Number : 146 Question Id : 23366711472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In an inner product space V(F) for aeF, a, B, v€V, (a,ap + ay)

5 L a,apast)  4e Y A"
e Pl e

a éF

Options :

1. % a(a’, B) *+ ﬂ(a', ]")
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2.8 &(Bs 0!) it C_l(‘}’; Cf)

svala,p)+a(a,y)

«a(ap)+a (ay)

Question Number : 147 Question Id : 23366711473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If @, B are orthogonal unit vectors, then |la — B||=

oo
N-pl] 2 0% o BV g0 V8T

Options :

1.%0

2 |

V2
Y.

Question Number : 148 Question Id : 23366711474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ifa =(-1,01),8 = (2,0,—2) then |la + BlI=

/4
=~ N8 < p= (2D ¢ =020 2!
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Options :

1% ()
2.33[

3% 2
4.V\/§

Question Number : 149 Question Id : 23366711475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The vector of unit length orthogonal to @ = (2, —1,6) in V3(R) w.r.to standard inner

product is
s ot et L) Wl
- t_,xjdpb O”V!L(')L‘ﬁ ,.;u,{,,w T

(2 2 1)
L3 3" 3

2. % (2! _2'—1)
. & (1)
4. ® (09070)

Question Number : 150 Question Id : 23366711476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 1 Wrong Marks : 0

Let W be a subspace of a finite-dimensional vector space V(F)then dim(V/W)=

L T S
Al e v Ve B(%G)u,@,u

& oLl"ﬂ'\ -—S"" -—-:-'
e —— e w .
Options :
Lo dimW —dimV
»vdimV —dimW
s «dimV + dim W

40
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